Probability: Moments
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3.F01.37] For watches produced by a certain manufacturer:

(i) Lifetimes follow a single-parameter Pareto distribution with a > 1

and ¢ = 4. H:Xj@] = [— F(G)

(i) The expected lifetime of a watch is 8 vears, /

Calculate the probability that the lifetime of a watch is at least 6 yvears.

A. 0.44 1 B. 0.50 . 0.56 D. 0.61 E. 0.67

v iii -1, x=2
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13.506.25] Calculate the skewness of a Pareto distribution with a = 4

and 6 = 1, 000. e &2 9 3

e
A. Less than 2 . oL B
B. At least 2, but less than 4 - (-

(. At least 4. but less than 6

%
At least 6. but less than 8 ! & -6 B 2
E. At least 8 (1) (&=Y) (A-3)
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4.501.3] You are given the following times of first claim for five randomly
selected auto msurance policies observed from time ¢ = 0:

1 2 3 4 5

[y
Calculate the kurtosis of this sample. = & > s _ .3
s 7
A. 0.0 B. 0.5 ZC. 1.7 D. 3.4 E. 6.8
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